6. Agriculture — Crops and
Agricultural Development

. Worksheet 1 ]

@ Name the following:

1.

10.
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Four oilseeds:

Native place of rice:

Wheat grows in India in [season]:

Four millets:

Harmful for cotton growing:

Largest producer of maize:

The golden fibre:
Coffee is native of:

Tea cannot tolerate:

Largest producer of rice:

@ Answer the following questions:

1.

2.

3.

Enumerate some of the measures taken to increase farm production.

What are the geographical and climatic conditions required for growing cotton?

Name three factors that have helped farming to develop in the USA.

4. Why is India suitable for developing tea plantation?

Srijan Social Sciences TRM 8



= o &K

ANswers T0 Worksheer |
SOOI

Mustard, groundnut, sesame, sunflower 2.India 3. Winter
Jowar, bajra, ragi, sorghum 5. Frost 6. The USA 7.Jute 8. Ethiopia, Africa
stagnant water 10. China

Some of the measures to increase farm production are: increasing land under cultivation
and the number of crops grown; improving and increasing irrigation; increasing the use
of chemical fertilisers; using high-yielding variety of seeds and introducing machines to
do farm work.

. Cotton grows best in tropical and sub-tropical climates, at places with well-drained

black and alluvial fertile soil. At the time of growth, it needs high temperature and well-
distributed rainfall of about 60 cm. At the time of ripening and picking of cotton bolls,
bright sunshine and dust-free winds are good. Cheap and adequate labour is needed
for cultivation and picking of bolls.

. Farming has developed on the vast fertile plains and grasslands of the USA called

Prairies because (a) They have a suitable climate with cold winters and hot summers
and limited rainfall in summer (b) The farmers practise contour ploughing and rotation
of crops regularly (c) They use machines like tractors, seed-drills, levellers, combine-
harvesters and thresher for the work.

India falls in the Monsoon belt of Asia which has a hot, humid climate, cloudy weather
most suitable at growing time. The tea plant grows on hill slopes with well-drained
loamy soil, because the bush cannot tolerate stagnant water. India also has cheap,
skilled labour available regularly.
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. Worksheet 2 ,

@ On a map of the world, mark the areas growing one of the following crops:
(a) Wheat and rice producing areas [in two different colours] OR (b) Cotton and
jute producing areas.
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A. Refer to maps on page 46 and 48 of Srijan Social Sciences 8.
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